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Name: Period:

Direck Variation Worlksheel

Where is the y—-intercept of any direct variation equation?
1) Circle the equation that is NOT an example of direct variation.

A) y=;_71+1 B) y=%x C)y = 4x D) y = —9x

2) Circle the equation that is a direct variation equation.
<}
A)y=7-3x B)g:—?)('f[ C) lj: 'Z;)( D) g: -2x + |/

3) What is the direct variation equation if y = 8 and x = 4?

4) What is the direct variation equation ify =—5 and x =77
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For 5—#the graph of a direct variation is shown. a) Write the direct variation equation for the

graph. b) Determine the value of y when x = 8 using your equation.
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8) Suppose y varies directly with X, and when y is 16, x is 8. a) Wirite the direct variation equation for
the data. b) Find y when x is 16.

Aet a)

b)

9) Suppose y varies directly with X, and when y is 2, x is 3. a) Write the direct variation equation for
the data. b) Find x when'y is 42.

Aee &

b)

(. 10) Arecipe for 2 dozen corn muffins calls for 3 cups of flour. The number of muffins varies directly
with the amount of flour used. R
Aee
a) Write a direct variation equation for the relationship between the number of
cups of flour and muffins. (Hint, cannot use the number 2 in the equation.)

b) Use the equation to determine how many cups of flour are needed to make 6
dozen muffins.

11) Your distance from a lightning bolt varies directly with the time it takes you to hear thunder. If
you hear thunder 10 seconds after you see the lightning, you are about 2 miles from the lightning.

Ace
a) Write a direct variation equation for the relationship between time and distance.

b) How many seconds it will take for the thunder to travel a of 4 miles.




A 19.) Drew is an artist. He paints portraits. The table below i f
B shows the number of portraits painted in hours, Do the ",_‘ *é }
‘ numbers in the table represent a proportional relationship? - - ~§
4
Acl =
Number of portraits | Time (In Hours) _ (}; ri‘{
5 l o 4—‘“ _.r"‘»"f '\I"":\u
A 5 & | \
4 20
g a5

A |3) This table shows the amount earned by Harry for selling cups of ice
P cream. Do the numbers in the table represent a proportional relationship?
C

AM’ Cups sold (km) Earnings ($)
T8 12
4 b
5 A0
b 2

I} ) Fred wrote notes during an examination. The table below shows number
R of pages written in relation to the time it took to make the notes (in hours).
3 Does the table represent a proportional relationship?

Ace
Notes (pages) | Time (In Hours)

(-5 .75

7.5 I.25

€5 13

Q.5 15
A Which of the ordered paics below show
k>

& Proioorﬁona;l relationship:

15) (3,12) (4,16 (5,20)
) (10,5)(12,&)(14.7‘)
%) (2, 10)(3,15) 424)
18) (% 21)(%,32) (9,45)




